MacwTtad 1:100

| B (L 188, @ e 3
38? i f = on 18. lag}
1.57 : H o gl]] &2
' 2 v = 29 51 5.67
2 T3 - :
1.57 8 2 :{ 87
Hls 55
S 25 3
1.98 -
I 1 T r"! e [
l o182
Ne204 g
1 o i66 ~
~ 1.03 = = 1.60
— L Lt
No208 127 4 3.19 L T0%
324 |l 4
_.—]—}—I— — )
2.80 hJ _635 9.4 o I 6
3 o 0.12 15
N207 N206 | @_Q_]E S8 &
— &
HEE = w3
w| [0 &0, 1.08
A o -
el | X
578 8 3P e M7
260 || 087 95 " —
- T 1 T o0
aT | 351 2.95 g--- 3 17\0 3
p e Jen e o‘o'ﬂ
'l ' 5.52
4 !
54 0090092 3 . %
2.78 T 162 3 6 » 00 5
20.09]l009 35 g 122 | 19.6 ﬁ}
= o 2
m o
it h=2.53
352 3,12 3.46 5.51
Jlut. A

Yyactok r.¥Ycel [BY Pb
"locypapcTeBeHHas kagacTposas o
¥ TEXHWYECKas MHBEHTapU3aLu

MCNONHWIN

nposepvn

{//%/

TexHu4eckan WHBEHTapuaal

NO COCTOAHUKD
Ha 02.12.2021r.




